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Sets

Example

1. If A={1,3,5},B{2,4,6} then =?

Watch Video Solution

A ∩ B

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bjj5CAUccVBR


2. ={x:x is a prime number and 

,

write the set A using listing method.

Watch Video Solution

A 10 < x < 20}

3. B={-4,4}.Write the set B using the rule

method.

Watch Video Solution

https://dl.doubtnut.com/l/_bjj5CAUccVBR
https://dl.doubtnut.com/l/_qvNOjBKUs5zi
https://dl.doubtnut.com/l/_sS8Yg23LUfTY
https://dl.doubtnut.com/l/_sv3NWEEja0f9


4. If ,

.then find 

Watch Video Solution

U = {1, 2, 3, 7, 8, 9, 20, 11, 12}

A' = {1, 3, 7, 10} A.

5. If A={1,3,5,7},B={2,3,6,8} then show  by

venn diagram.

Watch Video Solution

A ∩ B

https://dl.doubtnut.com/l/_sv3NWEEja0f9
https://dl.doubtnut.com/l/_WocA7vbSsOU3


6. If n(A)=45,n(B)=52 and =70.Then

find 

Watch Video Solution

n(A ∪ B)

n(A ∩ B)

7. If A={1,7},Then write all possible subsets of A.

Watch Video Solution

8. Observe the venn diagram and write the

following sets in listing method:(i) U

https://dl.doubtnut.com/l/_G6VDEPLJIAkh
https://dl.doubtnut.com/l/_MGonbMmoRTGB
https://dl.doubtnut.com/l/_ocBzOk7nDPvg


Watch Video Solution

https://dl.doubtnut.com/l/_ocBzOk7nDPvg


9. Observe the venn diagram and write the

following sets in listing method:(ii) 


Watch Video Solution

A ∪ B

10. Observe the venn diagram and write the

following sets in listing method:(iii) A'

Watch Video Solution

https://dl.doubtnut.com/l/_PC49SVRBumL4
https://dl.doubtnut.com/l/_pWupoUv2SlWc
https://dl.doubtnut.com/l/_TJvhQgWQGLgp


11. Observe the venn diagram and write the

following sets in listing method:(iv) .


Watch Video Solution

A ∩ B

12. If A={1,2,3,4,5},B={2,3} then draw Venn

diagram for 

Watch Video Solution

A ∪ B

https://dl.doubtnut.com/l/_TJvhQgWQGLgp
https://dl.doubtnut.com/l/_H7d4CSmqVQIs


13. Decide whether set A and set B are equal

sets.A={x|x in N,x<2},B={x|x is a natural number

but x is neither prime nor composite}.

Watch Video Solution

14. Represent the union of two sets by venn

diagram.A={2,4,6,8},B={1,4,8,10}.

Watch Video Solution

https://dl.doubtnut.com/l/_dogAbBDMtm30
https://dl.doubtnut.com/l/_ig9zgbrP24w6


15. An information was gathered about 40

families is as follows:9 families subscribe to

english newspaper,20 families subscribe to

Marathi newspaper,7 families to both the

languages.Represent this information using

venn diagram.Find the number of families not

subscribing any newspaper.

Watch Video Solution

https://dl.doubtnut.com/l/_wFZ6U0GygDvl

